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@ 4x®2-3x+2 @4x2—x—2 @ 4x?-2x+1

@ —4x2—x-2 ® —4x2+x-2

STl Ax® —x -2, YA D —5x+3
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@ x-y-2?=x>4+y>+22-2xy+2yz - 22x
@ (3x —2y)? = 27x® — 54x?y + 36xy? — 8y3
@ (x+y)(x =) (¥ + 1y +y*) (x? = xy +?)
— xS
O @x+y-1)(x+y*-xy+x+y+1)
=x3+y3-3xy—-1




17.

(10° + 2)7 €] 2} A2l ] 5] Fg Foroder,

@ 15 @18 ® 21 @ 26

B

A& A7Nskd
1015 + 23 + 3 x 2 x 10°(10° + 2)
=10" 4+ 23+ 6x10'° + 12 x 10°
=10 4100 x 6+ 10° x 12 + 8

“14+6+1+2+8=18




18.

a+b+c=0, a®>+b*>+c? =14 W, 4(a®b? +b?c? +c%a?) o] 727

1
@ @ 3 @1 @ 2 ® 3

o=

B ~

(a+b+c)?=a®+b?+c?+2(ab + be + ca)

1
", ab—i—bc—i—caz—i

4(a®b? + b%c? + c2a?)
= 4{(ab + bc + ca)? — 2abc(a + b + ¢)}

1 2
—“(‘5) =1




19. =E Ao gto] 36, ZYol7F 56 91 Z-&H A o] Tzt

A WA 72, A2, %012 247 a, b, ot AL,
4(a+ b+ c) = 36, 2(ab + bc + ca) = 56
(a+b+c)?=a®+b*+c?+2(ab + bc + ca)
a2+ b%2+c%2=81-56=25
. (H2He) o) = V@ TR T &

25=5




1
Rox 1= 0 T, 4~ o] ghe?
X

® -2 @ -1 ® 0 @1

B

x?—x+1=0, FHA x+ 1S FIH,
(x+1D(x2-x+1)=0
WBH+1=0 x> =-14 x> =13 x x%2 = -2

1 1
5 _ 2
x—i—;——(x _|_x_2> ...... @
P -x+1=0E x2 U¥xof A st
1
x+-=1
5

1 1)\?
x2+—2:(x—|——> =2==I
X X

® of HAFH, 5+ = =1
X




21.

W 4x-1=0%A 0, 2 - 5x 9 g FEHA?

@ 2 @1 3 0 @ -1

B

O -5x B2 +x-12 UFH
= x5—5x=(x2+x—1)>< =3
¥ +x-1=0
X0 —5x=-3

~&B

Th5T o] A9] A4 B3 U 4 Qo
¥ =-x+1
x® —5x = (%)% x x - 5x

= x(-x+1)?-5x

=x3—2x% —4x
=x(-x+1)=2(-x+1) - 4x
=-x?-x-2

=—(x>+x) -2
=-1-2=-3




22. xty+z=4, xytyztzx =1, xyz =24 W, (xy+yz)(yz+zx)(zx+xy)
o] gh& FobH?

o1 @8 @ @ 2 ® 1

~&B

(xy +y2)(yz + 2x) (2x + xp) =

Xy 4+ yz +zx = 1= o] 85to] HFsHA

(xy + yz)(yz + zx) (zx + xy)
=(1-zx)(1-xy)(1-y2)

=1- (xy+yz+zx) + (¥¥yz + 0%z + xy2%) — (xyz)?
=1-(xy+yz+2zx) + xz(x +y + z) — (xyz)?
=1-142-4-4

=4

X 9ol A ot o] A4S o853t
(x—a)(x=b)(x—c)
=x3-(a+b+c)x* + (ab + bc + ca)x — abc




o] ghe P
x3

o, x* +

ko1
=

=
=

Axx7Fx2-3x+1=0

@

23.

® 20 @ 21 ® 22

@ 19

=33-3x3=18




24. a+b+c=7,a2+b>+ %2 =21, abc =8<L W, a®b® + b2 + 2d?
o] 27

@ 26 @ 48 @84 @ 96 ® 112

~&B ~

(@a+b+c)? =a?+ b+ ¢+ 2(ab + bc + ca)
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